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6HEDJDL�SHQXQMDQJ�DGDQ\D�HNRVLVWHP�GL�PHGDQ�VHQL��JDOHUL�OXULQJ�PHPEXWXKNDQ�

PDQDMHPHQ� \DQJ� NRPSHWHQ� XQWXN� ELVD� WHUXV� EHUMDODQ� VHLPEDQJ� GHQJDQ�

SHUNHPEDQJDQ�]DPDQ��*DOHUL�OXULQJ�KLQJJD�NLQL�PHQMDGL�PHGLD�NRQYHQVLRQDO�XQWXN�

SDUD�SHUXSD�GDQ�QRQ�SHUXSD�XQWXN�PHPDPHUNDQ�NDU\D��PHQFDUL�NRQHNVL��KLQJJD�

PHQMDGL�SXVDW�PDUNHW��6HEDJDL� WLWLN� WHPX�SDUD� SHJLDW� VHQL�� NHJLDWDQ� EHUSDPHUDQ��

PHQFDUL� GDQ� EHUWXNDU� LQIRUPDVL� KLQJJD� SURVHV� MXDO� EHOL� LQL� \DQJ�PHPEXDW� SHUDQ�

PDQDMHPHQ� JDOHUL� OXULQJ� VDQJDW� YLWDO� EROHK� MDGL� VDK� GLNDWDNDQ� ELOD� JDOHUL� OXULQJ�

VHNDUDQJ�PHUXSDNDQ�WXODQJ�UXVXN�HNRVLVWHP�PHGDQ�VHQL��3DGD�SUDNWLN�Q\D��VHWLDS�

SURIHVL�\DQJ�DGD�SDGD�VDDW�LQL�VDQJDW�WHUEDQWX�ROHK�WHNQRORJL��WDN�WHUNHFXDOL�SURIHVL�

\DQJ� EHUNXWDW� SDGD� VHQL�� %HUEDVLVNDQ� GDULQJ�� NLWD� GDSDW� PHQJDNVHV� VHJDOD� GDWD�

LQIRUPDVL�GDQ�KLEXUDQ�GHQJDQ�KDQ\D�KLWXQJDQ�PLOLGHWLN��%HUMDODQ�EHULULQJDQ�GHQJDQ�

LWX��GL�EHEHUDSD�WLWLN�GL�GXQLD��JDOHUL�GDULQJ�PXODL�EDQ\DN�PHQJJDQWLNDQ�IXQJVL�GDUL�

JDOHUL�OXULQJ��

*DOHUL�GDULQJ�DGDODK�UXDQJ�SDPHU�\DQJ�PXGDK�GLDNVHV�SDGD�HUD�VHNDUDQJ�NDUHQD�

JDOHUL� WHUVHEXW� EHUEDVLVNDQ� GDULQJ��.DUHQD� EHQWXNQ\D� \DQJ� IOHNVLEHO� GDQ�PXGDK�

GLMDQJNDX�� JDOHUL� GDULQJ� NHUDS� NDOL� PHQMDGL� WXMXDQ� SDUD� SHUXSD� \DQJ� LQJLQ�

PHQ\HOHQJJDUDNDQ�SDPHUDQ��*DOHUL�GDULQJ�PDVLK�PHUXSDNDQ�PHGLD�DOWHUQDWLI�\DQJ�

GLJXQDNDQ�ROHK�EHEHUDSD�JDOHUL�GL�EHEHUDSD�QHJDUD��.KXVXV�Q\D�GL�,QGRQHVLD��SHUDQ�

GDQ�NHEHUDGDDQ�JDOHUL� GDULQJ�PDVLK� VLPSDQJ� VLXU�EDKNDQ�PXQJNLQ�ELVD�GLELODQJ�

WHUEHODNDQJ�� +DO� LQL� PXQJNLQ� ELVD� GLVHEDENDQ� ROHK� NXUDQJQ\D� NHLQJLQDQ� SDUD�

SHUXSD� GDQ� QRQ� SHUXSD� \DQJ� DNWLI� GLELGDQJ� VHQL� GDQ� WHUNHVDQ� JDSWHN� \DQJ�

EHUGDPSDN�WHUSXUXN�Q\D�VLVWHP�SHQ\HOHQJJDUD�SDPHUDQ�GDODP�JDOHUL�GDULQJ���
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